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Instructions to Candidates

Read the instructions carefully before you start
answering the questions, Answers are to be givenon a
OMR Answer-Sheet provided. '

1. In this Paper you are to answer 90 questions,
Each question carries 1(one)mark. You are to answer ail
the questions,

2. Beforeyouproceed tomark inthe OMR Answer-
Sheet, findout the correct answer from the four alteratives
(a), (b), (c) and (d) against each question in the Question
Booklet. Darken the circle with a Black Ball Point Pen,
to the corresponding correct answer for the item in the

OMR Answer-Sheet.
@ @ © ©

~ Example :
(Here ‘b’ is the correct answer.)

3. If more than one circle is encoded or darken
against a particular answer, it will be treated as a wrong
answer.

4. There will be no penalty marks or negative
marking for a wrong answer.

5. You are to start recording answers with the
‘start’ instruction from the Officer-in-Charge of your
room/hall, -

{ B
6. You are to write your Name and Roll No. in
the space provided with for this purpose onthe OMR
Answer-Sheet.

7. The OMR Answer-Sheet should be handed over
to the Invigilator before leaving the Examination Hall.
You may take away the used Question Booklet after
completion of the examination.
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Mathematics

1. If f(x) = x52 10x%= 10x*— 10x% - 10x2—

. _10\x+ 10, the value of f(11) is

@ 1
(b) 10,

11 -
(d 21

2. Ifa="23,b=27andc =50, the value of
a+b*-c + 3abe is
(a) 100
(b) 73
“(c), 77

0

3. If(3p+4q): (Br+4s)=(3p-4q): (3r-4s),
the value of ps : gris
(a) 3:4
@/1 01
() 4:3
d) 9:16

4. The identity Va.vb = Vab is not true only
when
(@ a>0;b>0
(b) a<0;b<0
(¢) a>0;b<0
(d) a<0;b>0

5. The solution of the inequation x* - 4 < 0 is
(a) —eocx<-2
_ -2<x52
() 2€x <o
(d) x>+2

6. . The number of solution of the equation
x2=x-21s
(a)
1
(c) 2
(d) 4

[31]
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1. f(x)=x5-10x°-10x*- 10x°—- 10x% - 10x
+10%, f(11) ga R
{a) 1
, (b) 10.
I (o) 11
L () 21

2. a=23,b=279Rc=50T7, a'+b7-c* +
3abc €T AW
(a) 100
{b) 73
() 77
@o L e

3. AW (3p+49): (Br+4s)=(3p-4q): B3r—ds)
T, S ps : qr 97 Wi
(a) 3:4
b)1:1
(c)4:3
(d 9:16

4. Varb=+ab oo e 7@ T, 74
., (@-a>0:b>0
~(b) a<0;b<0
() a>0;b<0
(d) a<0;b>0

5.0 x4 <0 ERiegela T w1
T (a) —ee<x<-2

b) -2<x<2

L (0) 2€x <o

L (@) x2+2

6. \x2= x - 2 RReta et ey
, (a) 0
: (0) 1
| () 2
L) 4
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W%
7. The simplified value of - Y, N [@12-V8) (3 +2)
- W2 BB X, \[ e~ TR
e 2 (& YN ) 2-Y6
(@) V6-2 . © 0
) 2-6 q/_,x‘b ,:D @
© 0 K 7/ (é"[@
@1 8 xY o
— 2 (b
8. Ifx=%f§,y=\“f4,z={’f€,then ny(?(\, 8. ﬂﬁx=ﬂ§,y=ﬂz,z=%iﬂ,w
. % [
@ x<y. , 7o S° @ x<y
(b)y<z 6 A (b) y<z
; A\ .
(c) z<X » \_}:4\9(0) 7<X
@ x=y=z V) x=y=2
\‘.,
. /ﬁ’
9, If%:%,;hevalueofgf—g+gl—é is vy, %:%m’b_}z.{.g-l—ﬁﬁam
o
@ % (@) &
1
O OF
;ﬁ © 3
| ¢ ) &
‘x}(i).s Ifx—-y=3andX+y29,theleastva}ue0f 10. X_y=‘3mgx+y29mix, 9 T T
6 @6
3 ®
@2 () 2
@1 @1

*41. The difference between the simple and
compound interest on Rs. 12,500 for 3 years at 4% 1s

(a) Bs. 60.50
Rs. 6080
(c) Rs. 60.00
(d) Rs.60.20
12. A fruit businessman purchases one gross of
bananas at Rs. 12 per dozen and sells 8 dozen at
Rs. 15 per dozen. If he want to have 30% overall
profit, the selling-price per dozen of the remaining
bananas should be

(a) Rs. 16
() Rs. 16.20

(c) R&.16.40
(¥ Rs. 16.80

11, 4 4% 2@ 12,500 B 3 IR A 7 ¢
g 0 SNl
(8) 60.50 Bt
(b) 60.80 Bt
(c) 60.00 5Re!
(d) 60.20 B

12, q@ew w TA 12 B TER W 4 (AF
& (@ 43¢ A 15 TR e Wi 8 wor = e
wmﬁ%ﬁm@a@o@w%mwmwﬁ

aeTiofR von 2ffe Ry 2o 29

(@) 16 B

(b) 16.20 5
(©) 16.405r
(d) 16.80 B



13. The base of a prism is square and its height
is 10 cm. If the whole surface area is 192 $q. cm,

the volume of the pnsm is
. yﬁ 60 c.c.
(b) 165 c.c.

(c) 170 c.c..
(d) 155 c.c.,

14. The volume of a sphere havh;gma@ius% Yol
15 equal to the volume of a right circular:cone whose
lateral surface area is three times of the area of the
base. The altitude of the cone is

(a) 4 cm
(b) 6 cm
(c) 8cm
{(d) 10cm

15, The distance between the centres of two

circles of radii 3 cm and 8 cm respectively is 113
cm. If PQ is the direct common tangent of the
circles, then its length is

(a) Mrcm
12 cm

(c) I3¢cm

- (d) 14 cm

16. ABCD is a cyclic quadrilateral and ‘O’ |

is the centre of the circle. If £ COD = 130° and
£ BAC=25° the value of Z BOC and £ BCD are
_respectively '

(@) 40°, 90°

50°, 90°
(c) 65° 50°
(d) 70°, 80°

17. If o+ B = Fand 2 (cos’e — cos’B) =

measure of o is
(a) §
(b)
(c)
(d)

[0<a<F]

A Wl il A

1, the

1
i

1§ aﬁf@wgﬁw@mawm 10 &M
ﬁfﬁmﬁawwmﬂﬁ 192 3+ 1t =, o fevemfon
L1

(a) 160 c.c.
(b) 165c.c.
(c) 170 c.c.
(d) 155c.c.

14. <2 Ry RiFg ol coteree e gl
mewmmwgﬁa
mwﬁmnvﬁﬁa%ww .

“(a) 4R
(b) 6 M
(c) 8cAfy ' e
@ 101

15. 36 o8 G PRI ¥ a7 o
Y 13 &R PQ, JERR B 7 AR i 2,
PQaam’rm

; (a) II ity
[ (b) 12
(0 13 =

@) 14 =

16 ABCD- <3 902 599w ¥ ‘O’ 3aba @ |
‘Eﬁ é COD=130°932 £ BAC =25°%%,%@ £ BOC
X A BCD-7 9 2@t

(a) 40°,90°
(b) 50°, 90°
(c) 65°50°
(d) 70°, 80°

17 1 o+ B =2 @ 2 (cos? a—coszﬁ)—l
H,Wa-«ﬂ?mﬁmﬁ [0<a<]]

(@ %
(b)
(c)
(d)

RE WE ™R A




18. In AABC, ZABC = 90° and BC =3 AB.
The value of Sin C is
(a) %
(b) 1
, 1
. Fc) G
@ 3
19, If2ycos®=xsin0and2xsecO—y cosecO=
3, the value of x® + 4y% is
: - (a) 2
(b) 1

() O
() 4

20. I£0°<8<90° and cos® — V2 sin 9=
3 sin 6, the value of sin 6 + }fi_cos 0 is

(a) Y cos 0
(by' 3 cos 9
(© \2 sin®
@ V3 s__iﬁe

Cu&

0 +~NL

18. AABC-4% Z ABC = 90° &% BC =3 AB.

Sin C-&9 =
(a) flj
(b) 1
©F
d 3

19, %2y cosB=xsinO TR 2x secB-y cosecB=

3, SW@X A 4y* g4 TN
(@) 2
(b) 1
() 0
@ 4

20. T 0° < 6 < 90° = cos O — V2 sin 6 =

3 sin 0 &7, @ sin 6 + V2 cos B-47 T4
'(a) V2 cos®
(b) V3 cos6
(c) V2 sin®
(d) Y3sin6

3 et = B s mi

[6]

|
|
¥

L

|
|



Physics

- 21. A body covers half the distance with a
speed of 20 m/s and the other half with 30 m/s. The
average speed of the body during the whole
journey is

(a) Zgro
(b) 24 mis o, K
(c) 25m/s — ik ?D
(d) None of the above LL;.: e
=
22, If a wire of resistance 182 is stretched to
double its length then resistance will be
@ 3Q
(b) 2Q
) ;0
(d) 4Q

23, If a part of a convex lens is covered, its
focal length will ‘

(a) remain unchanged.

(b) become twice.

(c) become half.

(d) depend on the covered area.

24. Note the relationship between the first two
words and suggest the suitable word for the fourth
place. Loudness : Amplitude : : Quality :

(a) Frequency
(b) Wave length
(¢) Intensity

(d) Wave form

25. How many times does the polarity of an
A.C. supply of frequency 50 Hz change in one
second?

(a) 50
(b) 100
(c) 25
(d) 200

—

171]

R S

o U9S
21. wﬁ:wwm‘qsw 20 m/s TTTS Q3R Weig

w3 7% 30 m/s wfere wfeaw T T Tuwfs
LiCKH

(@) 0
(b) 24 m/s
() 25m/s
(d) Sz @HE 7w

J

22, 1Q QrREE o3 oiw G 3 Req @
41 . OA BT (K O LA
@ 30
(b) 2Q
© 59
@ 4 Q

23. @ TR erme o3I we o FE «
PRI 07y
(a) wifFafds AiwE |
(b) Tawd |
(c) s A
(d) TR WA CRATTR B9 FIST AT |

24, ol S N T TSR T A @ v
YIRIR & BoE *s fism At
H 3 NG

(a) F~iF
(b) wa%
(c) Sa=t

(d) <= @l

25. 50 Hz 3~iitas @ ALC. @ammwzﬁ%
(AT Fedia Afafes o9

(a) 50
(b) 100
(c) 25
{d) 200



26. In electromagnetic wave, the direction of
electric and magnetic field are
(é) parallel to each other.
(b) perpendicular to each other.
(c) at acute angle to each other.
(d) at obtuse angle to each other.

Vm!is the unit of

(a) Potential

(b) Electric field intensity
" (c) Electric current

27.

(d) Electric potential energy

28. The minimum distance between an object
and its real image in a convex lens is

(a) 2.5 times its focal length.
(b) 2 times its focal length.
(c) 4 times its focal length.
(d) equal to its focal length.

29, The ratio of velocity of sound in hydrogen
to the velocity of sound in oxygen is

(@ 4:1
(b) 16:1
() 2:1
(d) 8:1

-

30. Which of the following is electromagnetic -

in nature?
(a) o-ray
(b) P-ray
(c) yray
(d) Cathode ray

26, e FEIT GAH OfoerwE @ FRFCRUAT
ey
C (@) ARETER NG |
(b) stEeR Y|
(c) PR 0% SR Se |
(4) ARATEE R TN TS |

(a)
(b) wfee Cma =iRED
(¢) ©f%e sarg I

(d) fYe FH&

28, T T R I @ BT R0 T
AT Y
(a) (TOW R0 2.5 B9
(b) IR AT 2 el
(c) PRI AR 4 a4
(d) CTIEPT 0TI FNA |

29. TGRSR W *H (@0 ¢ SR A
TR (A TATS

(a 4:1 .
(b) 16:1
© 2:1
(d) 8:1

30, Trox @ ofbe g ww?
(a) o3P
(b) B-ama
(c) v

Ad) e &

™,
~

[81 .

e WTEIPEL TR R



31. What will be the power consumed by a
25 Q wire if it is put across a mains of 250 volts?

(@) 2.5kw
(b) 25 kw
(c) 2.5 w
(d 25w

N

32. Two bodies. w1th kmenc‘_esnefgws in.the
ratio 2 : 3 are moving with equal mol;nentum ‘The
ratio of their masses

(a) 1:3
(b) 1:2
{c) 3:2
(d) 2:3

31. - 250 (s10%q Sl @3l 25 Q AR o
TG G Tesly I ?

(@) 2.5kw
(b) 25 kw
(c) 25w,
(d) 25w

32. meetﬁmwm‘iﬁww

W‘PJHEZ 3, ST A SIS F6?

{
1

iz

(9]

(a) 1:3

(®) 1:2
") 3:2

(@ 2:3

——
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Chemistry

33. Under the same conditions of temperature
and pressure, 1/ of oxygen gas was mixed with 1/ of

‘carbon dioxide gas. The mass ratio of the gases inthe

mixture will be
{ay 1:1
) 8:11
(c) 11:8
(@ 16:44

34, Which of the following is not the unit of the
Universal Gas Constant?
(a) ergmol'k!
() Jmol'k!
(¢) Pam?*mol k!
(d) Pam’mol'k?

35. Electric current is passed through a
concentrated aqueous solution of sodium chloride by
means of a battery. After disconnecting the circuit the
solution thus obtained is divided into two equal parts
by volume. In one part phenolphthalein and in another
part methy! orange indicator was added. The colour
of the solutions will be respectively—

(a) PinkandRed.

(b) Colourlessand Yellow.
(c) Pinkand Yellow.

(d) Colourless and Red.

36. n, moleculesofagasiskeptina container of
definite volume at a temperature of T° and at a
pressure P. What will be the pressure of the gas at that
temperature when n, molecules of gas is removed
from the container?

- o (a) an .

(n[- nz) '

@ Lo ?

37. The ascending order of -:]—(charge/mass)
value for electron (g), proton (p), neutron {n) and
alpha (o) patticle is

- {a) e,p,n0.
) n,pe o,
() n,a,p, e
(d) n,p, o, e

AR

33, I Saee G 5el 1] SEEm s e 1 IR-uiR-
AT ST G 2l farst sy 159 S SIS T—
(a) 1:1
b 8:11
(c) 11:8
(d) '16:44
[N

34, FsfRe @Hb e P ST T AR
' (a) “etgmol’k’
() Jmol'k!
(c) Pam’mol’k!
(d) Pam®mol'k’

35, sl Tt ot GeiRe g g fon v
¥ ofie, 2R 1 e | TR TR R el eI G -
WSS AN ARSI @R ¢ R sy
T el 3 21 | 819 DR 3 2 T

(a) coii=itiot @ =7 |
(b) IR e T
ORI EEES ]
(@) zBFesm|

36. < RFE SHSER ol T° Sare n, MY
syiSira e P 5ot A1l SR 1 6% #AI (/T® n, TRYT ST
e ST e 6% 3% SReoH SO E b1 PO T ¢

nP
(a): (n, - n,) -
OIS

(n,— n,)
© “aP

2

(n,— n)P
) _LnL_

37. T (e), AR (p), F%5# (n) @ =eT®! (o0)
e (&—?)—aam@wﬂwﬁﬁmﬁiﬁ—
(@) e,p,n, 0
(b) n,p, e, 0.

{c) n,o,p,e.
(d} n,p, o€

[10]
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38. Among LiCl, RbCl, BeCl, and MgCL which
two are the highest and the lowest ionic compounds‘?
(@) LiCl1&RbCL
(b) RbCl & BeCl,.
(c) RbCl& MgCl,.
(d MgCL& BeClz.

39. Which statement is correct regardmg ethane,
ethene and ethyne?
(a) Ethyne is weakest acid and C—H bond
length is longest.
(b) Ethyne is strongest acid and C—H bond
length is shortest.

(c) Ethane is strongest acid and C—H bond |

length is longest.
(d) Ethene is the strongest acid and C-H
bond length is shortest.

40. 10 gm H, and 64 gm O, were taken in a
sealed vessel and exploded. The amount of water
produced in the reaction was— :

(a) 3mole.
(b) 4mole.
(c) Imole.
(d) 2mole.

41. 1 mole of a hydrocarbon ‘X’ undergoes
complete saturation with 1 mole of hydrogen in
presence of a heated catalyst. What would be the
formula of ‘X’?

(@) CH,
(b) C,H,.
(¢} CH,
@ CH,
42. Which of the following are isomers?
' (a) Butane and Isobutene.
(b} Ethaneand Ethene,
(c) Propane and Propyne.
Butane and Isobutane.

43. Which of the following is a double salt?
(a) Blue Vitriol
{b) Glauber’s Salt.
{c} PotashAlum.
(d) Potassium Ferrocyanide.

38 LiCl, RbCl, BeCl, @k MgCl43 g 31
iﬁ@‘meﬁﬂwwﬁa@ﬂ?
(a) LiCI&RbCL
(b) RbCl& BeCl,
(c) RbCl1& MgCl,.
(d) MgCl, & BeCL,.

@;9 T, A @ e ovm o o 3w
?
(a) 2RRAEEow o e C-H 39w o7 e
(b) %R Sz ww e C-H aw 07 gxow|
© B ORTN WH 8 C~H 75w o7 e |
(d) 2few Sgow o e C-H 35w i 7o |

- il

40. 10gmH,s 64gmo—@sm1% 5 A

-quﬁtﬁmﬁwmﬂﬁmww&@,

T—
(@) 3|
(b) 4 =T |
© 1
() 2 )
41. 1 o @3l QR X - T e
WMWW%WIWWWI

"X 03 RS T
@ CH
) Csz'
(© CH,,
(d CH,

42, eez oS wiRpa e
(a) DA s wREIREH|
(b) T @3 |
(c) celiTsAw @ catetiEm |
() REHw ¢ wiREReE

43, e @ e e
(2) A folGw
(b) 2T
(c) =I5 et
(d) ~BFam @RS |

(11] -



Biology

44, - Which of the following products of light
dependent phase are used dunng light independent
phase of photosynthesis?

(a) RuBP & ATP
(b) 1,0 &0,

NADPH, & ATP
(d) ATP& O,

45. Inwhich portions of the following, the Glucose
concentration i€ highest? -
{3y Glomerulus ,
(b) Proximal convoluted tubule
(c) Bowmans capsules '
{d) Collecting tubule

46. The outermost layers of meninges is
- (a) Myelinmembrane
(b) Arachnoid mater
(c) Dura mater
(d) Piamater

47. Transpiration will be faster when the day is
(a) Kot humid and windy
hot, dry and windy
(c) cold, humid and windy
(d) hothumid and still wind
48. Adenineisakind of
" {a) Purinebase -
(by Pynmidine base
(¢} Protein
(d) Fat

49. Which one is the 1st National Park in India?
é;;}d/ma National Park
Jim Corbett National Park
(c) Kaziranga National Park
(d) SatpuraNational Park

SRSl

44, R I AT frda g Gesifirs @
TEE AT WMareE Wi e 58 ?

(2) RuBP <3 ATP
(®) H0 @0,

(c) NADPH, <z ATP
(d) ATP«=xO,

45, TIoe CoIT SIS0 FUpleer Ay HRpTa (e ¢
(a) AT
(b) RS
(c) ST T
(d) ez

46. CTAIETIg SIAIBCR IR0RH S0 22
(a) Scafem e
(b) TGS S
ORIk
(d) fotat oo

47, QeAEH v 73 14 Tl 71
(a) ©F, Y 43 IYLIAITE
(b) ©u, % IR IFZIIE
(c) Ao, B 4R TS
(d) o8,y a2 AR

48. SERA 25 4P GHER
(a) FCi=es
(b) PRER =
() cafbm
d |t .,

49, ﬁmm@mﬁwm@aw?
(a) TP ASATHE
(b) o AT TS S
(c) fErare Bror Bwpi
(d) e+ GO THE

[12]
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S-S

B - 5
Ben : -
50. Hacprlophilia discase s linked with I e S U ——
(3) Sex chromosome (a) W GRS
). Autosome : (b) ST
oy Racteria () R
(d) (d) sz
51. Ifthe heart rate of a man is less than 60 per 510 2R I IR e 219 2 RS 60-97
minute then it is called as e I QI OIRE ©ILS T W
(2) Tachycardia Coan (a) TnfmfEat
(b) Bradycardia - ' (b) fEEm
(¢) Ischemia Dyt (c) TRfan
(d) Bradykinin (@) afaiERe
52. The word “Vaccine™ was first coinedby 52, ‘SRR =l o AR T _
(a) Koch - (@) YT ' | _
(b) Pasteur ‘ - (b) wrEw : el
¢y Jenner C{o) @R
. ;
‘ I . '
53. 1 gmofHaemoglobin can hold 531 s fRetanfRe wimet wets sicg
(a) 1.34mloxygen ' {a) 1.34 mi=Rea
(b) 13.4mloxygen : (b) 13.4 ml sifsyam
(c) 2.34mloxygen - _ (¢) 2.34 mlwfdem
(d) 1.5mloxygen . (d) 1.5mlsRem
54. Preen gland is presentin ' 54, T2 2 ot A
(a) thebody ofpigeon | (a) R TR
(b} the body of prawn (b) Befew o
(c) thebody of rohu fish (c) AT (R
(d) incactus plant : (d) 5 TR
. ) {! l .
55. Grafting is not possible in monocot plant 55! @ eelE) B cameReeTs! 1 T e
because they ) : S _
(a) haveparallel venation. ' (2) Freae PRafRmyt A 3 |
(b) have only one cotyledon. (b) 9=f5 g Jrerelm L A
(c) lack cambium. (c) waTTs SRR T |
(d) have scattered vascular bundle, (d) e mferm 2w it <)

[13]
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History

56. TheAjantacaves were built during the period
ofthe

57.
of

58.

59.

. 60.

61.

Mauryas
(b) Guptas
(c) Kushanas
(d) Chalukyas

Hieun-Fsang came to India during the reign

" (ay/ Harshavardhana

) Kanishka
{(¢) Chandragupta Maurya
(d) Samudragupta

Who built the Red Fort?

- (a) Sher Shah

Avrangzeb
(© Akbar
(d) Shahjahan

The first Governor General of India was
(a) Lord Clive |
(b) Lord Wellesley
(c) Aord William Bentinck
- Warren Hastings

The Subsidiary Alliance was introduced by
Lord Wellesley

(b) Lord Dalhousie

(¢) Warren Hastings
(d) Lord Cornwallis

Who was called the ‘Frontier Gandhi’?
(2) Mahatma Gandhi

(b) Pattavi Sitaramaiya

(¢) Vallabhbhai Patel

(d¥ Khan Abdul Ghaffar Khan

[ 14 ]

56.

57.

580

59.

60.

61,

eI wlfed (ol A
() GO I

(b) W TAH

(c? TG FAE

TR R SIS GAREH
(a) TRE-GT A
(b) FAE-gTEE
(c) TEYG G- I

() OG- I

AN (3 0018 TR 2
(a) CRHE
(b) BFAER
(c) =IF
(d) »n=Eng=

SIRTSH Sl NS (BT T
(a) TS FiZ® '
(b) T SR

(c) =6 Taferm 3%

(d) eaEm @R

SRR e R 2aeH 3w

(@) =TS GTRETIE
(b) 6 TR
(c) ST @A -
@) sEstenm

~

| R W AE T

(a) s it

(b) GRS e

(C) WSS A
(d) I SR e A



B

62. Indians boycotted the Simon Commission
because the Simon Commission had come

(a) to divide India.
(b) to grant Purna Swaraj, .
_ (c) to look for ways of increasing British

control over India. '
\Mot a single Indian member was -

included.

63. The Iron Man of India was
(a) Jawaharlal Nehru
) ul Kalam Azad
Vallabhbhati Patel
(d) Subhas Chandra Basu

64. Which day was observed as “Rashld Ali

Day”?
(a) 1QFebruary, 1946
M:ebmmy, 1946
¢) 14 February, 1946

(d) 16 February, 1946

65. What is the name of the treaty signed.

between defeated Turkey and the Allies at the end
of the First World War?

(a) Treaty of Versailles

(b) Treaty of St. Germain

(¢) Treaty of Sevres

(d) Treaty of Trianon
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Geography

66. Rusting of rock is caused by the process of
(a) Carbonation

(b) tion
Oxidation

(d) Solution

67. Roches Montanees are the hillocks of rocks
that are formegd by '

Glacial abrasion
(b) Glacial abrasion and Plucking
(c) Glacial deposition '
d Ndne_of the above

68. The concentration of Ozone is found mn___
above the earth’s surface.

(a) 0-7km

(b) 7-18km
18-50km

(d) 50-80km

69. Canagiés current flows along ﬂ:‘l@)goast of
Portugal '

.(b) Peru
(c) Japan
(d) India

-

70. In India the Tropic of Cancer touches how
many states?

}a)/6 states
(b} 7 states
(c) 8states
(d) 9 states

71. The location of Chilka lake which is the

largest salt water lake in India lies to the
(a) South of Mahanadi Delta
(b) North of Mahanadi Delta
(¢) Northof Godavari Delta
(d) Mouth of Subarnarekha Delta
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72. Inwhich part of India the difference between
the day and night temperature is very low '

(a) Kajasthan
- Arunachal Pradesh

(c) Madhya Pradesh
(d) Andaman and Nicobar Island

73. The “Yellow Revolutlon n Ind1anAgnculture
is the turning point of L

(a) Riceproduction
(b) eat production

Oil seed production
(d) Jute production

74. Crops grown during April, May and June are
known as

(2) ed crops
(b)y”Kharif crops
c) Rabicrops
(d) Spring crops

75. Itispolluting the environment very badly, So
its demand in developed countries is decreasing.
Environmentalists prefer to call it as ‘Sunset Industry’

(a) Autémobile Industry
(b)~Jute Industry

(c) Petrochemical Industry
(d) Cotton textile Industry
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Political Science

76. The Constitution of India was adopted on
(a) 9 December, 1946
{b) 14 August, 1947

: gg/ﬁ November, 1949
d) 26 January, 1950
77. The Chgirman of the Drafting Committee
- of the Constisdent Assembly of India was ‘

(3y’ B. R. Ambedkar

(b) Jawaharlal Nehru

(c) Sardar Ballabhbhai Pate]
(d) Dr. Rajendra Prasad

78. Who characterises the Indian Union as a
“Federation with centralizing tendency”?
(a) Dr.B.R. Ambedkar
(b) Granville Austin-
(¢)' K. C. Wheare
(d) Ivor Jennings

79. ‘Democracy is a government of the
people, for the people, by the people’ was said by
(a) George Washington
(b) Voodrow Wilson
\(})}A,braham Lincon
(d) Roosevelt

80. Who discharges the responsibility of the
chairman of the Council of States?

(a) The President of India  °

)U{:Ilifle Vice-President of India
(¢c) The Prime Minister of India
(d) None of the above

81. The Chief Justice of the Supreme Court is
appointed by the
(a) President
(b) Vice-President
(¢) Prime Minister
(d) Attorney General

g
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82. Which one of the following is not a Union

Territory?
: ’(Q/ﬁnachal Pradesh

(b) Lakshadweep
(c) Andarr_lan
(d) Puducherry

83. When a bill-presented at the table of Lok
Sabha who decides whether a bill is Mutzey Bill or
not? A

The Prime Minister . .
(b) The President
"(¢) The Parliamentary Select Committee

(d) The Speaker of the Lok Sabha

84, “Republic” was written by
(a) Marx
(b) Liettel
Plato
(Y Aristotle

85. What is the name of the Predecessor
organization of the UNQ?

(a) WTO ,
League of Nations

(c) NATO
(d) SAARC

[191]
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Economics
- 86. Creation of utility for exchange is called

(a) Consumption
(b) Investment
() Production
(d) Savings

87. In which of the following situation total
demand for a necessary commodity will rise?
(a) Rise in price level
(b) Rise in population size
- (¢) Risein production
(@) Rise in the rate of interest

88. Inflation indicates a situation of
(a) yery high prices.
(F,)/cintin_uous fall in prices.
¢) continuous rise in prices.
(d) very low prices.

89. An economy is said to be on thie path of
growth when ° ‘
(a) total production increases.
(b) per capita income increases.
Mﬁequality in the distribution of income
- falls. -
(d) total population increases.

90. Which organization in india is called the
«Lender of the last resort” for the commercial
banks?

(a) ICICI
(b) 1DBIL

(c)’ NABARD
RBI
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